BEEARERZOREMREARAFEHEIZONT
SH2E 3 AXREHE
(1) BEMRHFX(CO2) HHEDHRE (BKHEMEFERAMDEEH)
A B 5 g | PR [ TREE Topen g | PHOEE| PROEE| SHAEE | SN2 5K
E & 2,210 1,896 1,946 1,889 1,899 1,896
= 174 188 174 174 168 166
CO2BEHE (t-C02) | & 354 136 138 160 141 132
& it 2,738 2,220 2, 258 2,223 2,208 2,194
e — — 38 3 A 12 A 26
SEERTERA 24 1= Y (OCO2E 4 (+-002/rr) 0.06329|  0.04664|  0.04744|  0.04671|  0.04639|  0.0461
xR AEFEEELE (%) 100 101.72 100. 15 99. 46 98.84
EARERATY QLR 0 1.72 0.15| A 0.54] A 1.16
18 B42 (%) A1.00 a20| a30 A400
| EkE 42,128| 46,427 46, 427 46, 427 46, 427 46, 427
(B%) EREM (M) —
SF-Iit:ul 1,131 1,167 1,167 1,167 1,167 1,167
(2) IRXRVX—EASOHE (BKEMEFERABOEH)
B B |wpgE| TRNe | oaes | FHSEE | FROEE | FRIEE | SHTEE | ST 2 FE
g S | kwh | 3,982 246| 3,275 324| 3,361, 421| 3,262 695| 3,279, 056| 3,274, 237
(R BAEGEFELE) % — — 2.63| A 0.39 0.1 A 0.03
L P #H R m 27,948 28,539 26, 383 26, 311 25, 497 25, 203
(R BAEGEFELE) % — — A 75| A781| A10.66 A 11.69
£ i i) 130, 481 50, 158 51, 086 59, 162 51,982 48,789
(R BAELEFELE) % — — 1.85 17.95 3.64f A 273
N . = CO2Hk i & (t-C02)
BENRIARABFH=EDOHS —— SR EEERE L (%)
(t-C02) 2,138 160
2,700
- 140
2,600 120
100% 101.72% 100.15% 99.46% 98.84%
2,500 ~ + . . . - 100
2, 400 I
2,300 2,258 .
’ 2,220 2,223 2. 208 - 60
2,200 - 40
2,100 - 90
2,000 0
TERI9EE SERR2TEE SERL28EE SERL29EE SERLI0EE SH2EE
(BEEE)  (FrLes)

[ 8% ] BEMRFAPHBOHER (REL BENRTRBYHBHEEREHA FF10&Y)
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0.000579 (t-C02/kWh)
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HeHifR % (t-C02/t)
3.00 (t-C02/t)
0.0066 (t-C02/m)

XLPHRADESIEKO0. 458 (M. kg) IT&YiRE

AFTHERE kO x

HEHifR¥ (t-C02/kQ)

ASHERE
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(k) x
Q) x

2.71(t-C02/kQ)
0.00271 (t-C02/2)



